
Test 2 

Informatics Roles Model divides roles into four category, which of these variant is correct? 

a) Concept, Development, Operation, IT Rescources 

b) Concept, Development, Operation, Integration 

c) Inovation, Development, Operation, IT Rescources 

d) Concept, Development, Analytical, IT Rescources 

Enterprise architecture is divided into four categories, which of these architectures is not among 

them? 

a) Business architecture 

b) Application architecture 

c) Information architecture 

d) Technological architecture 

e) Production architecture 

The architect may be characterized as?  

a) expert, strategist, politicians, and leader 

b) expert, strategist, politicians, and manager 

c) expert, strategist, politicians, and programmer 

d) novice, strategist, politicians, and leader 

SOA stands for? 

a) service-oriented architecture 

b) service-oriented adaptation 

c) supply-oriented adaptation 

d) store-oriented architecture 

SOA service is characterized by four main feature, which of these feature is NOT correct? 

a) Loose relationship 

b) Abstract 

c) Composable and modular 

d) Restructionalization 

Which of these architectures is the simplest? 

a) Linnear architecture 

b) Layer architecture 

c) Networked architecture 

d) Hierarchical architecture 


